

An extension of Dedekind's arithmetic function

Krassimir Atanassov 

Department of Bioinformatics and Mathematical Modelling, Institute of Biophysics
and Biomedical Engineering, Bulgarian Academy of Sciences
Acad. G. Bonchev Str., Block 105, 1113 Sofia, Bulgaria
e-mails: krat@bas.bg, k.t.atanassov@gmail.com

Received: 26 May 2026

Revised: 19 August 2026

Accepted: 29 August 2026

Online First: 31 August 2026

Abstract: By analogy with the Schemmel function, a new arithmetic function is introduced. It is an extension of the well-known Dedekind arithmetic function. Some of its basic properties are discussed.

Keywords: Arithmetic function, Dedekind's function, Euler's totient function.

2020 Mathematics Subject Classification: 11A25.

*In memory of my wife Lilija C. Atanassova
(8 July 1956 – 6 August 2026).
She was a very good mathematician.*

1 Introduction

Leonard Euler's totient function and Julius Wilhelm Richard Dedekind's arithmetic function are well known. For the natural number

$$n = \prod_{i=1}^k p_i^{\alpha_i}, \quad (1)$$

where $k, \alpha_1, \dots, \alpha_k, k \geq 1$ are natural numbers and $p_1 < \dots < p_k$ are different primes, they are defined (see, e.g., [6–8, 10]) by:



Copyright © 2026 by the Author. This is an Open Access paper distributed under the terms and conditions of the Creative Commons Attribution 4.0 International License (CC BY 4.0). <https://creativecommons.org/licenses/by/4.0/>

$$\varphi(n) = \prod_{i=1}^k p_i^{\alpha_i-1} (p_i - 1), \quad \varphi(1) = 1,$$

$$\psi(n) = \prod_{i=1}^k p_i^{\alpha_i-1} (p_i + 1), \quad \psi(1) = 1.$$

The first one of these functions was extended by Victor Schemmel [11] to the form

$$\varphi^{(r)}(n) = \prod_{i=1}^k p_i^{\alpha_i-1} (p_i - r) = n \prod_{i=1}^k \left(1 - \frac{r}{p_i}\right), \quad \varphi^{(r)}(1) = 1. \quad (2)$$

This function is an object of research in a series of papers, e.g., [3–5, 9, 12–14].

Here, by analogy with Schemmel's function, we will introduce an extension of Dedekind's function and will study some of its properties. In addition, some properties of function $\varphi^{(r)}$ will be also discussed.

In the proofs we will use multiplicative induction on the number of divisors of n .

2 Definition and properties of an extension of Dedekind's function

Let everywhere below the natural number n be given by (1). Let r be a natural number. Then we can define a new function that is an extension of Dedekind's function:

$$\psi^{(r)}(n) = \prod_{i=1}^k p_i^{\alpha_i-1} (p_i + r), \quad \psi^{(r)}(1) = 1. \quad (3)$$

Obviously, it is a multiplicative function and

$$\psi(n) = \psi^{(1)}(n),$$

i.e., it is an extension of the standard Dedekind's function. When $r = 0$:

$$\varphi^{(0)}(n) = n = \psi^{(0)}.$$

Following [1], let us define

$$\underline{\text{mult}}(n) = \prod_{i=1}^k p_i,$$

$$\underline{\text{set}}(n) = \{p_1, \dots, p_k\}.$$

If we suppose that the parameter r is an arbitrary integer, then we will see the deep connection between the functions $\varphi^{(r)}$ and $\psi^{(-r)}$ – it is evident from the following two equalities:

$$\varphi^{(-r)}(n) = \psi^{(r)}(n),$$

$$\psi^{(-r)}(n) = \varphi^{(r)}(n).$$

From (2) and (3) it is seen directly that for every two natural numbers r, s and $r > s$ they hold the inequalities:

$$n + 1 \leq \psi(n) \leq \psi^{(s)}(n) < \psi^{(r)}(n).$$

Below, we formulate and prove some assertions related to the two discussed functions that do not exist in cited above papers devoted to function $\varphi^{(r)}$.

Theorem 1. *For every two natural numbers r, s such that $r > s$:*

$$\left(\psi^{(r)}(n)\right)^2 > \psi^{(2r-s)}(n)\psi^{(s)}(n). \quad (4)$$

Proof. For the inequality (4) we obtain:

$$\begin{aligned} & \left(\psi^{(r)}(n)\right)^2 - \psi^{(2r-s)}(n)\psi^{(s)}(n) \\ &= \left(\prod_{i=1}^k p_i^{\alpha_i-1}(p_i + r)\right)^2 - \prod_{i=1}^k p_i^{\alpha_i-1}(p_i + 2r - s) \prod_{i=1}^k p_i^{\alpha_i-1}(p_i + s) \\ &= \prod_{i=1}^k p_i^{2\alpha_i-2} \left(\prod_{i=1}^k (p_i + r)^2 - \prod_{i=1}^k (p_i + 2r - s)(p_i + s) \right) > 0, \end{aligned}$$

because for each i ($1 \leq i \leq k$):

$$(p_i + r)^2 - (p_i + 2r - s)(p_i + s) = r^2 - 2rs + s^2 = (r - s)^2 > 0,$$

which proves the assertion. □

Let (see, e.g., [6, 7, 10])

$$\omega(n) = k.$$

Theorem 2. *For each natural number r that is less than or equal to the minimal element of $\text{set}(n)$:*

$$\varphi^{(r)}(n)\psi^{(r)}(n) \leq n^2 - r^2\omega(n). \quad (5)$$

Proof. When n is a prime number, we obtain that $\omega(n) = 1$ and

$$n^2 - r^2\omega(n) - (n - r)(n + r) = 0,$$

i.e., (5) is valid. Let us assume that (5) is valid for n . Let $p \notin \text{set}(n)$ and $p \geq r$. Then

$$\begin{aligned} (np)^2 - r^2\omega(np) - \varphi^{(r)}(np)\psi^{(r)}(np) &= n^2p^2 - r^2\omega(n) - r^2 - \varphi^{(r)}(n)\psi^{(r)}(n)(p^2 - r^2) \\ &\geq n^2p^2 - r^2\omega(n) - r^2 - (n^2 - r^2\omega(n))(p^2 - r^2) \\ &= r^2(p^2\omega(n) + n^2 - r^2\omega(n) - \omega(n) - 1) \\ &\geq r^2(n^2 - \omega(n) - 1) > 0. \end{aligned}$$

Let $p \in \text{set}(n)$. Then $\omega(np) = \omega(n)$ and by the condition $p \geq r$

$$\begin{aligned} (np)^2 - r^2\omega(np) - \varphi^{(r)}(np)\psi^{(r)}(np) &= n^2p^2 - r^2\omega(n) - \varphi^{(r)}(n)\psi^{(r)}(n)p^2 \\ &\geq n^2p^2 - r^2\omega(n) - (n^2 - r^2\omega(n))p^2 \\ &= \omega(n)(p^2r^2 - r^2) > 0, \end{aligned}$$

with which (5) is proved. □

Theorem 3. For each odd number n and for each natural number r that is less than the minimal element of $\underline{\text{set}}(n)$:

$$\varphi^{(r)}(n) + \psi^{(r)}(n) \geq 2n + (\omega(n) - 1)r. \quad (6)$$

Proof. Let $n \geq 3$ be a prime number. Then $r \leq n - 1$ and

$$\varphi^{(r)}(n) + \psi^{(r)}(n) = n - r + n + r = 2n + 0.r,$$

i.e., (6) is valid. Let us assume that (6) is valid for the natural numbers less than or equal to n .

Let $p \notin \underline{\text{set}}(n) \cup \{r\}$, $p > 3$ and $p \geq r$. Then

$$\begin{aligned} & \varphi^{(r)}(np) + \psi^{(r)}(np) - 2np - (\omega(np) - 1)r \\ &= \varphi^{(r)}(n)(p - r) + \psi^{(r)}(n)(p + r) - 2np - \omega(n)r \\ &= p(\varphi^{(r)}(n) + \psi^{(r)}(n) - 2n) + r(\psi^{(r)}(n) - \varphi^{(r)}(n) - \omega(n)) \\ &\geq (\omega(n) - 1)pr + r(\psi^{(r)}(n) - \varphi^{(r)}(n) - \omega(n)) \\ &= r(\psi^{(r)}(n) - \varphi^{(r)}(n) + \omega(n)p - p - \omega(n)) \equiv X. \end{aligned}$$

If $\omega(n) = 1$, then

$$X = r(\psi^{(r)}(n) - \varphi^{(r)}(n) - 1) > 0.$$

If $\omega(n) > 1$, then from $p \geq 2$

$$\begin{aligned} X &= r(\psi^{(r)}(n) - \varphi^{(r)}(n) + \omega(n)p - p - \omega(n)) \\ &\geq r(p(\omega(n) - 1) - \omega(n)) \geq r(2\omega(n) - 2 - \omega(n)) = r(\omega(n) - 2) \geq 0. \end{aligned}$$

Let $p \in \underline{\text{set}}(n)$. Then

$$\begin{aligned} & \varphi^{(r)}(np) + \psi^{(r)}(np) - 2np - (\omega(np) - 1)r \\ &= \varphi^{(r)}(n)p + \psi^{(r)}(n)p - 2np - (\omega(n) - 1)r \\ &= (\varphi^{(r)}(n) + \psi^{(r)}(n) - 2n)p - (\omega(n) - 1)r \\ &\geq (\omega(n) - 1)pr - (\omega(n) - 1)r \\ &= (\omega(n) - 1)(p - 1)r \geq 0. \end{aligned}$$

Therefore, the Theorem is proved. □

3 Special cases

Below, we will discuss the following special case of functions $\varphi^{(r)}$ and $\psi^{(r)}$. Let

$$\varphi^*(n) = \varphi^{(2)}, \quad (7)$$

$$\psi^*(n) = \psi^{(2)}. \quad (8)$$

Obviously, for each even number n ,

$$\begin{aligned} \varphi^*(n) &= 0, \\ \psi^*(n) &\geq n + 2^{\omega(n)}. \end{aligned}$$

The first 20 values of both functions are given in the following Table 1.

Table 1. Values of $\varphi^*(n)$ and $\psi^*(n)$ for $1 \leq n \leq 20$

n	$\varphi^*(n)$	$\psi^*(n)$	n	$\varphi^*(n)$	$\psi^*(n)$
1	1	1	11	9	13
2	0	4	12	0	40
3	1	5	13	11	15
4	0	8	14	0	36
5	3	7	15	3	35
6	0	20	16	0	32
7	5	9	17	15	19
8	0	16	18	0	60
9	3	15	19	17	21
10	0	28	20	0	56

From the above three theorems we obtain as particular cases for $r = 2$ the following inequalities:

$$(\psi^*(n))^2 \geq \psi^{(4-s)}(n)\psi^{(s)}(n),$$

(with equality for $s = 2$ and strict inequality for $s = 1$),

$$\begin{aligned}\varphi^*(n)\psi^*(n) &\leq n^2 - 4, \\ \varphi^*(n) + \psi^*(n) &\geq 2(n + \omega(n) - 1).\end{aligned}$$

From Theorems 2 and 3 we obtain as particular cases for $r = 1$ the following well-known inequalities:

$$\begin{aligned}\varphi(n)\psi(n) &\leq n^2 - 1, \\ \varphi(n) + \psi(n) &\geq 2n.\end{aligned}$$

Let

$$d(n) = \prod_{i=1}^k (\alpha_i + 1), \quad d(1) = 1.$$

Theorem 4. For each natural number $n \geq 2$

$$\varphi^*(n) + d(n) \leq n. \quad (9)$$

Proof. Let n be a prime number. Then from (7) we obtain

$$\varphi^*(n) + d(n) = n - 2 + 2 = n,$$

i.e., (9) is valid. When $n = p^a$ for a prime p and a natural number $a \geq 2$,

$$p^a - \varphi^*(p^a) - d(p^a) = p^a - p^{a-1}(p-2) - a - 1 = 2p^{a-1} - a - 1 \geq 0.$$

When n is an even number, then (9) is obvious.

Let us assume that (9) is valid for the odd numbers less than or equal to some odd number n . Let $p \notin \underline{\text{set}}(n)$ and $p \geq 2$. Then

$$\begin{aligned}
np - \varphi^*(np) - d(np) &= np - \varphi^*(n)(p-2) - 2d(n) \\
&\geq (\varphi^*(n) + d(n))p - \varphi^*(n)(p-2) - 2d(n) \\
&= d(n)p + 2\varphi^*(n) - 2d(n) > 0.
\end{aligned}$$

Let $p \in \underline{\text{set}}(n)$. Then $n = mp^a$ for some natural number $a \geq 1$, odd number $m > 1$ such that $p \notin \underline{\text{set}}(m)$, and

$$\begin{aligned}
np - \varphi^*(np) - d(np) &= mp^{a+1} - \varphi^*(m)p^a(p-2) - d(m)(a+2) \\
&\geq (\varphi^*(m) + d(m))p^{a+1} - \varphi^*(m)p^a(p-2) - d(m)(a+2) \\
&= d(m)p^{a+1} + 2\varphi^*(m)p^a - d(m)(a+2) \\
&> d(m)(p^{a+1} - a - 2) \\
&\geq 2^{a+1} - a - 2 > 0,
\end{aligned}$$

with which (9) is proved. □

Theorem 5. For each natural number n

$$\psi^*(n) \geq n + d(n)\omega(n). \quad (10)$$

Proof. Let n be a prime number. Then from (8) we obtain

$$\psi^*(n) - n - d(n)\omega(n) = n + 2 - n - 2 = 0,$$

i.e., (10) is valid. If $n = p^a$ for a prime number p and a natural number $a \geq 2$, then

$$\psi^*(p^a) - p^a - d(p^a)\omega(p^a) = p^{a-1}(p+2) - p^a - a - 1 = 2p^{a-1} - a - 1 \geq 0.$$

Let us assume that (10) is valid for the natural numbers less than or equal to some n and let $p \notin \underline{\text{set}}(n)$. Then

$$\begin{aligned}
\psi^*(np) - np - d(np)\omega(np) &= \psi^*(n)(p+2) - np - 2d(n)(\omega(n) + 1) \\
&\geq (n + d(n)\omega(n))(p+2) - np - 2d(n)(\omega(n) + 1) \\
&= np + d(n)\omega(n)p + 2n + 2d(n)\omega(n) - np - 2d(n)\omega(n) - 2d(n) \\
&= d(n)\omega(n)p + 2n - 2d(n) > 0.
\end{aligned}$$

Let $p \in \underline{\text{set}}(n)$. Then $n = mp^a$ for some natural number $a \geq 1$, some natural number $m > 1$, such that $p \notin \underline{\text{set}}(m)$, and

$$\begin{aligned}
\psi^*(np) - np - d(np)\omega(np) &= \psi^*(mp^{a+1}) - mp^{a+1} - d(mp^{a+1})\omega(mp^{a+1}) \\
&= \psi^*(m)p^a(p+2) - mp^{a+1} - d(m)(a+2)(\omega(m) + 1) \\
&\geq (m + d(m)\omega(m))p^a(p+2) - mp^{a+1} - d(m)(a+2)(\omega(m) + 1) \\
&= mp^a(p+2) + d(m)\omega(m)p^a(p+2) - mp^{a+1} \\
&\quad - d(m)\omega(m)(a+2) - d(m)(a+2) \\
&\geq 2mp^a - d(m)(a+2) \\
&\geq 2^{a+1}m - d(m)(a+2) > 0,
\end{aligned}$$

with which (10) is proved. □

Obviously, for every two prime numbers p, q , such that $p > q$:

$$\frac{p-2}{p} > \frac{q-2}{q}$$

and hence for each natural number $a \geq 2$

$$\frac{\varphi^*(np^a)}{np^a} = \frac{\varphi^*(np)}{np} = \frac{\varphi^*(n)(p-2)}{np} > \frac{\varphi^*(n)(q-2)}{nq} = \frac{\varphi^*(nq)}{nq} = \frac{\varphi^*(nq^a)}{nq^a}.$$

We can calculate directly that for every two natural numbers $a \geq 1, b \geq 1$:

$$\begin{aligned}\varphi^*(3^a) &= 3^{a-1} < \frac{3^a}{\sqrt{3}}, \\ \varphi^*(5^a) &= 3 \cdot 5^{a-1} > \frac{5^a}{\sqrt{5}}, \\ \varphi^*(3^a 5^b) &= 3^a 5^{b-1} < \frac{3^a 5^b}{\sqrt{15}}, \\ \varphi^*(3^a 7) &= 3^{a-1} 5 > \frac{3^a 7}{\sqrt{21}},\end{aligned}$$

Theorem 6. For each odd number $n \geq 17$ and $n \neq 3^a, 3^a 5^b$ for every two natural numbers $a \geq 1, b \geq 1$:

$$\varphi^*(n) \geq \frac{n}{\sqrt{\text{mult}(n)}}. \quad (11)$$

Proof. First, we check that for the prime number $p \geq 7$ for each natural number a :

$$\varphi^*(3^a p) - \frac{3^a p}{\sqrt{3p}} = 3^{a-1}(p-2) - \frac{3^a p}{\sqrt{3p}} = \frac{3^{a-1}}{\sqrt{3p}} \left(\sqrt{3p}(p-2) - 3p \right) \geq 0,$$

because from $p \geq 7$ it follows that

$$\sqrt{3p}(p-2) - 3p \geq \sqrt{21}(p-2) - 3p \geq 4.5(p-2) - 3p = 1.5p - 9 > 0.$$

Second, we check that for the prime number $p \geq 7$ for every two natural numbers a and b :

$$\varphi^*(3^a 5^b p) - \frac{3^a 5^b p}{\sqrt{15p}} = 3^a 5^{b-1}(p-2) - \frac{3^a 5^b p}{\sqrt{15p}} = \frac{3^a 5^{b-1}}{\sqrt{15p}} \left(\sqrt{15p}(p-2) - 5p \right) \geq 0,$$

because from $p \geq 7$ it follows that

$$\sqrt{15p}(p-2) - 5p \geq \sqrt{100}(p-2) - 5p = 10(p-2) - 5p = 5p - 20 > 0.$$

Let $n \geq 17$ be a prime number. Then from (11) we obtain

$$\varphi^*(n) - \frac{n}{\sqrt{n}} = n - 2 - \sqrt{n} > 0.$$

Let us assume that (11) is valid for the odd number $n \neq 3^a, 3^a 5$, i.e., n contains at least one divisor different from 3 or 5, $n \geq 17$ and let $p \notin \text{set}(n)$. Then

$$\begin{aligned}\varphi^*(np) - \frac{np}{\sqrt{\text{mult}(np)}} &= \varphi^*(n)(p-2) - \frac{np}{\sqrt{\text{mult}(n)p}} \\ &\geq \frac{n}{\sqrt{\text{mult}(n)}}(p-2) - \frac{np}{\sqrt{\text{mult}(n)p}} \\ &= \frac{n}{\sqrt{\text{mult}(n)}}(p-2-\sqrt{p}) > 0,\end{aligned}$$

which is valid for each $p \geq 5$.

Let $p \in \underline{\text{set}}(n)$. Then

$$\begin{aligned}\varphi^*(np) - \frac{np}{\sqrt{\underline{\text{mult}}(np)}} &= \varphi^*(n)p - \frac{np}{\sqrt{\underline{\text{mult}}(n)}} \\ &\geq \frac{n}{\sqrt{\underline{\text{mult}}(n)}}p - \frac{np}{\sqrt{\underline{\text{mult}}(n)}} = 0.\end{aligned}$$

which proves the theorem. $\square$

Theorem 7. For each natural number $n \geq 7$:

$$\psi^*(n) \begin{cases} \leq \frac{(n^2 - 4\omega(n))\sqrt{n}}{n} & \text{if } n \text{ is an odd number} \\ < \frac{(n^2 - 4\omega(n))\sqrt{8n}}{n} & \text{if } n \text{ is an even number} \end{cases}. \quad (12)$$

Proof. First, we can see that

$$\begin{aligned}\psi^*(2) &= 4 > 0 = \frac{(4-4)\sqrt{2}}{2}, \text{ because } \omega(2) = 1, \\ \psi^*(3) &= 5 > \frac{5\sqrt{3}}{3}, \text{ because } \omega(3) = 1, \\ \psi^*(4) &= 8 > \frac{12\sqrt{4}}{4}, \text{ because } \omega(4) = 1, \\ \psi^*(5) &= 7 < \frac{21\sqrt{5}}{5}, \text{ because } \omega(5) = 1, \\ \psi^*(6) &= 20 > \frac{28\sqrt{6}}{6}, \text{ because } \omega(6) = 2, \\ \psi^*(7) &= 9 < \frac{45\sqrt{7}}{7}, \text{ because } \omega(7) = 1, \\ \psi^*(8) &= 16 < \frac{60\sqrt{8}}{8}, \text{ because } \omega(8) = 1, \\ \psi^*(9) &= 15 < \frac{77}{3}, \text{ because } \omega(9) = 1,\end{aligned}$$

Let $n \geq 7$ be a prime number. Then

$$\frac{(n^2 - 4\omega(n))\sqrt{n}}{n} - \psi^*(n) = \frac{(n^2 - 4)\sqrt{n}}{n} - (n + 2) = \frac{n + 2}{n}((n - 2)\sqrt{n} - 2) > 0.$$

Let us assume that (12) is valid for some odd number $n \geq 7$ and let $2 \neq p \notin \underline{\text{set}}n$. Then $p \geq 3$, $\sqrt{p} > 1.7$, $0.7p\sqrt{p} > 2$ and

$$\begin{aligned}&\frac{(n^2p^2 - 4\omega(np))\sqrt{np}}{np} - \psi^*(np) \\ &= \frac{(n^2p^2 - 4(\omega(n)+1))\sqrt{np}}{np} - \psi^*(n)(p + 2) \\ &\geq \frac{(n^2p^2 - 4(\omega(n)+1))\sqrt{np}}{np} - \frac{(n^2 - 4\omega(n))\sqrt{n}}{n}(p + 2) \\ &= \frac{\sqrt{n}}{np}(n^2p^2\sqrt{p} - 4\omega(n)\sqrt{p} - 4\sqrt{p} - n^2p^2 + 4\omega(n)p^2 - 2n^2p + 8\omega(n)p) \\ &> \frac{\sqrt{n}}{np}(0.7n^2p^2\sqrt{p} + 4\omega(n)(p^2 - \sqrt{p}) - 4\sqrt{p} - 2n^2p + 8\omega(n)p) \\ &> \frac{\sqrt{n}}{np}(n^2p(0.7p\sqrt{p} - 2) + 4(2\omega(n)p - \sqrt{p})) > 0.\end{aligned}$$

When $p \in \text{set}(n)$, then

$$\begin{aligned}
& \frac{(n^2 p^2 - 4\omega(np))\sqrt{np}}{np} - \psi^*(np) \\
&= \frac{(n^2 p^2 - 4\omega(n))\sqrt{np}}{np} - \psi^*(n)p \\
&\geq \frac{(n^2 p^2 - 4\omega(n))\sqrt{np}}{np} - \frac{(n^2 - 4\omega(n))\sqrt{n}}{n} p \\
&= \frac{\sqrt{n}}{np} (n^2 p^2 \sqrt{p} - 4\omega(n)\sqrt{p} - n^2 p^2 + 4\omega(n)p^2) > 0.
\end{aligned}$$

Let $n = 2^a$, where from the condition $n \geq 7$ it follows that $a \geq 3$. Then

$$\psi^*(n) = 2^{a+1} < 8 \frac{2^{2a} - 4}{2^a} \leq \frac{(2^{2a} - 4)\sqrt{2^{a+3}}}{2^a} = \frac{(n^2 - 4\omega(n))\sqrt{8n}}{n}.$$

Let $n = 2^a 3^b$, where $a, b \geq 1$ and from the condition $n \geq 7$ it follows that $a + b \geq 3$. Then

$$\begin{aligned}
& \frac{(n^2 - 4\omega(n))\sqrt{8n}}{n} - \psi^*(n) \\
&= \frac{(2^{2a} 3^{2b} - 4\omega(2^a 3^b))\sqrt{2^{a+3} 3^b}}{2^a 3^b} - \psi^*(2^a 3^b) \\
&= \frac{(2^{2a} 3^{2b} - 8)\sqrt{2^{a+3} 3^b}}{2^a 3^b} - 2^{a+1} 3^{b-1} 5 \\
&= \frac{1}{2^a 3^b} (2^{2a} 3^{2b} \sqrt{2^{a+3} 3^b} - 8\sqrt{2^{a+3} 3^b} - 2^{2a+1} 3^{2b-1} 5) > 0,
\end{aligned}$$

because $\sqrt{2^{a+3} 3^b} > \sqrt{2^6} = 2^3$ and

$$\begin{aligned}
& 2^{2a} 3^{2b} \sqrt{2^{a+3} 3^b} - 8\sqrt{2^{a+3} 3^b} - 2^{2a+1} 3^{2b-1} 5 \\
&> 2^{2a+3} 3^{2b} - 8\sqrt{2^{a+3} 3^b} - 2^{2a+1} 3^{2b-1} 5 \\
&= 2^{2a+1} 3^{2b-1} 7 - 8\sqrt{2^{a+3} 3^b} > 0.
\end{aligned}$$

Finally, when $n = 2^a m$, where $m \geq 5$ is an odd number and $a \geq 1$ is a natural number, then from above it follows that $\sqrt{2^{a+3}} \geq 4$, $2^{2a} m^2 > 4\omega(m)$, and

$$\psi^*(n) = 2^{a+1} \psi^*(m) \leq \frac{2^{a+1} (m^2 - 4\omega(m))\sqrt{m}}{m} < \frac{(2^{2a} m^2 - 4\omega(m))\sqrt{2^{a+3} m}}{2^a m},$$

because from $a \geq 1$ it follows that

$$\begin{aligned}
& \frac{(2^{2a} m^2 - 4\omega(m))\sqrt{2^{a+3} m}}{2^a m} - \frac{2^{a+1} (m^2 - 4\omega(m))\sqrt{m}}{m} \\
&= \frac{\sqrt{m}}{2^a m} \left((2^{2a} m^2 - 4\omega(m))\sqrt{2^{a+3}} - 2^{2a+1} (m^2 - 4\omega(m)) \right) \\
&\geq \frac{\sqrt{m}}{2^a m} (2^{2a+2} m^2 - 16\omega(m) - 2^{2a+1} m^2 + 2^{2a+4} \omega(m)) \\
&> \frac{\sqrt{m}}{2^a m} (2^{2a+1} m^2 + 48\omega(m)) > 0
\end{aligned}$$

which proves the theorem. □

Theorem 8. For each natural number $n \geq 2$ and $r \geq 2$:

$$nr^{d(n)} \geq 2\psi^{(r)}(n). \quad (13)$$

Proof. For $n = 2$ and $r \geq 2$ from (13) we obtain:

$$2r^{d(2)} - 2\psi^{(r)}(2) = 2r^2 - 2(2 + r) = 2r^2 - 2r - 4 \geq 0$$

and the equality is when $r = 2$.

When $n \geq 3$ is a prime number and $r \geq 2$, we obtain from (13):

$$nr^2 - 2(n + r) = n(r^2 - 2) - 2r \geq 3r^2 - 2r - 6 > 0.$$

If $n = p^a$ for a prime p and a natural $a \geq 2$, then

$$p^a r^{a+1} - 2\psi^{(r)}(p^a) = p^a r^{a+1} - 2p^{a-1}(p + r) = p^{a-1}(pr^{a+1} - 2p - 2r) \geq 0.$$

Let $p \notin \underline{\text{set}}(n)$. Then from (13) we obtain:

$$\begin{aligned} npr^{d(np)} - 2\psi^{(r)}(np) &= npr^{2d(n)} - 2\psi^{(r)}(n)(p + r) \\ &\geq npr^{d(n)}r^2 - nr^{d(n)}(p + r) \\ &= nr^{d(n)}(pr^2 - p - r) \\ &= nr^{d(n)}((pr - 1)r - p) \\ &\geq nr^{d(n)}(3p - 2) > 0. \end{aligned}$$

Let $p \in \underline{\text{set}}(n)$. Then $n = mp^a$ for some natural number $a \geq 1$, $m > 1$, $p \notin \underline{\text{set}}(m)$, and

$$\begin{aligned} npr^{d(np)} - 2\psi^{(r)}(np) &= mp^{a+1}r^{d(m)(a+2)} - 2\psi^{(r)}(m)p^a(p + r) \\ &\geq mp^{a+1}r^{d(m)(a+2)} - mr^{d(m)}p^a(p + r) \\ &\geq mp^{a+1}r^{d(m)}r^2 - mr^{d(m)}p^a(p + r) \\ &= mp^a r^{d(m)}(pr^2 - p - r) > 0. \end{aligned}$$

i.e., the theorem is valid. □

In particular, $nr^{d(n)} \geq 2\psi^*(n)$.

Obviously, for every natural number n and a prime number p ,

$$\frac{\psi^{(r)}(np)}{np} > \frac{\psi^{(r)}(n)}{n}.$$

Theorem 9. For every two natural numbers $n \geq 2$ and $r \geq 1$:

$$\psi^{(r)}(n) \geq n + \frac{nr^{\omega(n)-1}}{\underline{\text{mult}}(n)} \quad (14)$$

Proof. Let n be a prime number. Then $\omega(n) = 1$, $\underline{\text{mult}}(n) = n$ and

$$\psi^{(r)}(n) = n + r = n + \frac{nr^{\omega(n)-1}}{\underline{\text{mult}}(n)}.$$

Let us assume that (14) is valid and $p \notin \underline{\text{set}}(n)$. Then

$$\begin{aligned}
\psi^{(r)}(np) - np - \frac{npr^{\omega(np)-1}}{\underline{\text{mult}}(np)} &= \psi^{(r)}(n)(p+r) - np - \frac{npr^{\omega(n)}}{\underline{\text{mult}}(n)p} \\
&= \psi^{(r)}(n)(p+r) - np - \frac{nr^{\omega(n)}}{\underline{\text{mult}}(n)} \\
&\geq \left(n + \frac{nr^{\omega(n)-1}}{\underline{\text{mult}}(n)}\right)(p+r) - np - \frac{nr^{\omega(n)}}{\underline{\text{mult}}(n)} \\
&= np + nr + \frac{nr^{\omega(n)-1}}{\underline{\text{mult}}(n)}p + \frac{nr^{\omega(n)-1}}{\underline{\text{mult}}(n)}r - np - \frac{nr^{\omega(n)}}{\underline{\text{mult}}(n)} \\
&= nr + \frac{nr^{\omega(n)-1}}{\underline{\text{mult}}(n)}p > 0.
\end{aligned}$$

When $p \in \underline{\text{set}}(n)$ we obtain

$$\begin{aligned}
\psi^{(r)}(np) - np - \frac{npr^{\omega(np)-1}}{\underline{\text{mult}}(np)} &= \psi^{(r)}(n)p - np - \frac{npr^{\omega(n)-1}}{\underline{\text{mult}}(n)} \\
&\geq \left(n + \frac{nr^{\omega(n)-1}}{\underline{\text{mult}}(n)}\right)p - np - \frac{npr^{\omega(n)-1}}{\underline{\text{mult}}(n)} = 0,
\end{aligned}$$

i.e., the theorem is valid. □

Finally, let the well-known function σ be defined (see, e.g., [6–8, 10]) by:

$$\sigma(n) = \prod_{i=1}^k \frac{p_i^{\alpha_i+1} - 1}{p_i - 1}, \quad \sigma(1) = 1.$$

Theorem 10. For each natural number $n \geq 2$:

$$\psi^*(n) > \sigma(n). \quad (15)$$

Proof. Let $n \geq 2$ be an arbitrary natural number. From the definitions of functions ψ^* and σ we see that it is sufficient to prove that for each prime number $p \geq 2$ and for each natural number $a \geq 1$:

$$p^{a-1}(p+2) - \frac{p^{a+1} - 1}{p - 1} > 0.$$

Let

$$\begin{aligned}
p^{a-1}(p+2)(p-1) - (p^{a+1} - 1) &= p^{a+1} + 2p^a - p^a - 2p^{a-1} - p^{a+1} + 1 \\
&= p^a - 2p^{a-1} + 1 > 0.
\end{aligned}$$

from where (15) follows directly. □

Corollary. For every two natural numbers $n, r \geq 2$, $\psi^{(r)}(n) > \sigma(n)$.

4 Conclusion

The author hopes that the new arithmetic function, in combination with other existing ones, will also reveal new interesting properties.

Acknowledgements

The author is grateful to Dr Mladen Vassilev-Missana for the fruitful discussions. Special thanks go to the anonymous reviewers for their insightful comments and suggested improvements.

References

- [1] Atanassov, K. (1987). New integer functions, related to “ φ ” and “ σ ” functions. *Bulletin of Number Theory and Related Topics*, XI(1), 3–26.
- [2] Atanassov, K. (2024). Two arithmetic functions related to Euler’s and Dedekind’s functions. *Notes on Number Theory and Discrete Mathematics*, 30(1), 179–183.
- [3] Defant, C. (2015). On arithmetic functions related to iterates of the Schemmel totient functions. *Journal of Integer Sequences*, 18(2), Article ID 15.2.1.
- [4] Mandal, S. (2025). A note on newly introduced arithmetic functions φ^+ and σ^+ . *Notes on Number Theory and Discrete Mathematics*, 31(2), 404—409.
- [5] Mandal, S. (2025). Divisibility and sequence properties of σ^+ and φ^+ . *Notes on Number Theory and Discrete Mathematics*, 31(4), 899—907.
- [6] Mitrović, D., & Popadić, M. (1978). *Inequalities in Number Theory*. University of Niš, Niš.
- [7] Nagell, T. (1950). *Introduction to Number Theory*. John Wiley & Sons, New York.
- [8] Sándor, J., & Atanassov, K. (2021). *Arithmetic Functions*. Nova Sciences, New York.
- [9] Sándor, J., & Atanassov, K. (2024). Some new arithmetic functions. *Notes on Number Theory and Discrete Mathematics*, 30(4), 851—856.
- [10] Sándor, J., & Crstici, B. (2005). *Handbook of Number Theory. Volumes 1 and 2*. Springer Verlag, Berlin.
- [11] Schemmel, V. (1869). Über relative Primzahlen. *Journal für die Reine und Angewandte Mathematik*, 70, 191–192.
- [12] Steuding, J., & Suriajaya, A. I. (2023). Mean-values associated with a generalized Schemmel function. *Annales Universitatis Scientiarum Budapestinensis de Rolando Eötvös Nominatae, Sectio Computatoria*, 54, 307–319.
- [13] Subbarao, M. V., & Yip, L. W. (1991). On Sierpinski’s conjecture concerning the Euler totient. *Canadian Mathematical Bulletin*, 34(3), 401–404.
- [14] Toth, L., & Sándor, J. (1989) An asymptotic formula concerning a generalized Euler function. *The Fibonacci Quarterly*, 27(2), 176–180.